arcsec

—— 1

[CCITTTITITT0  First 2 seconds (h' 0. 0713_— 0, 057%
===~ First20seconds (o, =0.312 0, =0.056)
C X X Second 20 seconds ?0 =0 OOEJ ,,.=0.000)

Third 20 seconds (o, 28.000 g, —O 000)
—_ Hour Angle Error (o 0.312 m&an -0 025)

Declination Error (o, 5 .=0.056 mean =-0.044)
. N —  Guider X (g,,=0. OOO)
N .U U AR VARV AR —_— GulderY(o —OOOO)

20 40 60 80 100 120
expid=148980 (exptime=20.00) t [sec]




arcsec

First 2 seconds (h' 0.137 H_— 0, 11123
First 20 seconds (o, =0.125 46)

Second 20 seconds ?0 =0.| 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 125 m&&n —0 026)
Declination Error (0, =0.046 mean =-0.171)
Guider X (o,,= nan)

Guider Y (o, = nan)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

.......................................................................... B aeeeeaeeeaeaecaeaasasafeeanaanaananaaaaaaaaaan

............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=148987 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0. 1513_ 0. 208
First 20 seconds (o, =0.215 % —0 100)

Second 20 seconds ? ,=0.00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o —0 228 m&an -0 013)
Declination Error (o, —0 095 mean =-0.059)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

| 1 1 1 | 1 1 1
100 120

80
expid=148988 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h'—-o 158 E_— 0.176,
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 ,=0.00 0 .=0.000)
Third 20 seconds (o, -0 000 g —O 000)
Hour Angle Error (o a—O 221 m&&n =-O 004)
Declination Error (o, =0.076 mean =-0.036)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=148990 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' 0. 022 H_— 0, osoa
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 238 m&an -0 018)
Declination Error (o, =0.049 mean =-0.129)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

0'4:. ---------------------------------------------------------------------------- e
0.2 -;h --------------------------------------------------------------------------- ----------------------- RIS
0 73
-0.2
o o 7 X K 4 i M E N I
20 40 60 80 100 120

expid=148992 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'— 0.095 E_— 0.049
First 20 seconds " (o,_=0.206 T —0 042

Second 20 seconds ?0 ,=0.00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 207 m&an —0 016)
Declination Error (0, =0.042 mean =-0.137)
Guider X (o,,= nan)

Guider Y (o, = nan)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan
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80 100 120
expid=148993 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0. 099 H_— 0, 107}
First 20 seconds (o, =0.1 07)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, —5 000 g, —O 000)
Hour Angle Error (o a—O 175 m&&n =-O 013)
Declination Error (o, =0.107 mean =-0.011)
Guider X (o,,= nan)

Guider Y (o, = nan)

20 40 60 80 100 120
expid=149002 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0. 083 H_— 0, 154&
First 20 seconds (o, =0.1! 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 154 m&&n -0 036)
Declination Error (o, =0.100 mean .=-0.020)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=149003 (exptime=20.00) t [sec]



arcsec

revoseconds (o, =0.5360, =U.
First 2 seconds (Fa=-0,135 @ec=0.0! 03
First 20 seconds (o, =0.188 ¢ ec=0.06 )
Second 20 seconds ?0“20.22 0,,.=0.076)
Third 20 seconds (o _=0.269 o, =0.086)

Hour Angle Error (o :=0.230 m&&n a=-0.003)
Declination Error (o, =0.220 mean  =0.009)
Guider X (g,,=0.000)
Guider Y (o_,=0.000)

...................................................................................................................

..................................................................................................................................

80 100 120
expid=149004 (exptime=360.00) t [sec]



80 100 120
149005 (exptime=360.00) t [sec]
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360.00) t[sec]



arcsec

0.2

0.2f

rev 5> seconds (0, =
ha’

B o =0.
dec
[0  First 2seconds (Ra=-0,046 Eec:-0.085}
===~ First20seconds (o, =0.304 ¢ =0.070;
C X X Second 20 seconds ?oh :0.361 0,,.=0.059)

Third 20 seconds (cha:6.359 Gdec;6'063)
—_ Hour Angle Error (o, =0.337 mean, =-0.003)

Declination Error (Ud:c:0'378 mean:ECIO.OOS)
Guider X (g,,=0.000)
Guider Y (o_,=0.000)

20

100

80
expid=149007 (exptime=360.00) t [sec]
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arcsec

0.2

-0.2

-0.4

rev 5> seconds (0, = [

ha : dec .
First 2 seconds (Fa=-0.479 @ec=-0.006;
First 20 seconds (o, =0.462 o, =0.301

C X X Second 20 seconds ?0“20.00 ecOMZO.OOO)
Third 20 seconds (o, =0.000 g, =0.000)
, ll II 3 — Hour Angle Error (o, a=0.533mean a=0.048)
(oA 'I A —————————  Declination Error (g, =0.303 mean _ =0.120)
v N Guider X (o_,=0.000)
: : i‘l """ II """"""" """"""""""" Guider Y (o_,=0.000)
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expid=149034 (exptime=30.00) t [sec]




arcsec

el SN
P a— :

=

3

First 2 seconds (h'— 0 083 E_— 0.223,
First 20 seconds (o, =l 3080 —0. 174

Second 20 seconds ? ,=0.00 0 .=0.000)
Third 20 seconds (o, -0 000 g —O 000)
Hour Angle Error (o —0 380 m&&n -0 006)
Declination Error (o, —0 157 mean =-0.029)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149035 (exptime=30.00) t [sec]



arcsec

I
[CCITTTITITT0  First 2 seconds (h' 0.103 H_— 0, 0433
===z~ First20seconds (g, =0.000 00)

C X X Second 20 seconds ?0 =0 OOEJ ,,.=0.000)

Third 20 seconds (o, 28.000 g, —O 000)
—_ Hour Angle Error (o 0.478 m&an —0 066)

Declination Error (o, 5 =0.243 mean o.=0-107)
Guider X (o,,=0. OOO)

ah'e """""""""""" """"""""""" _— GulderY(o —OOOO)
T 0 N S e R
......
A { £ | 1 1 1 i 1 1 1 | 1 1 1 | 1 1 1

20 40 60 80 100 120
expid=149036 (exptime=15.00) t [sec]



arcsec

0.8

0.4

o
N

o mm
[

[CCITTTITITT0  First 2 seconds (F- 0, 0113_— -0, OB.’?}
===z~ First20seconds (o, =0.000 ¢, =0.000)
C X X Second 20 seconds ?0 ,=0.00 0 .=0.000)
1 7777777 Third 20 seconds (o, -0 000 g, —O 000)
—_ Hour Angle Error (o a—O 434 mean =-0.003)
Declination Error (0, =0.092 mean o.=0-014)
Guider X (o,,=0. OOO)
| VY | ) G G e NN AN Guider Y (o, 0. 000)
0.6 1) TR D U o N A A N S Fereeem e nee e e T
LN N N DA NLNG NG AN A e e S
A { £ | 1 1 1 i 1 1 1 | 1 1 1 | 1 1 1

60 80 100
expid=149039 (exptime=15.00)



arcsec

0.4

First 2 seconds (h'—-o 223 E_— 0.091
First 20 seconds (o, _=0.418 T -0. 09’

Second 20 seconds ?0 ,=0.00 0 .=0.000)
Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 418 m&an =-O 006)
Declination Error (o, =0.109 mean =-0.044)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149040 (exptime=20.00) t [sec]



120
30.00) t[sec]
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arcsec

(57 ST(g, FU:35010, =0

[CCIITTTTIT0  First 2 s s (Ra=-0.094 EE:-0.0E:S;

===~ First20seconds (g, =0.000 ¢ =0.000;

C X X Second 20 seconds ?0“20.00 ,,.=0.000)
Third 20 seconds (o, =0.000 g, =0.000)

—_ Hour Angle Error (o a=0.332 mean a=-0.037)

e Declination Error (o, =0.045 mean  =0.009)

- Guider X ( 0.000)

— Guider Y (0..=0.000)

..........................................................................................................................

.........................................................................................................................

............................................................................................................................

1 1 1
100 120

60 80
expid=149043 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' 0. 1133_— 0040%
First 20 seconds (o,_=0.328 % —0 042)

Second 20 seconds ?0 ,=0.00 0 .=0.000)
Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 328 m&an -0 043)
Declination Error (0, =0.042 mean o.=0-020)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)
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80 100 120
expid=149046 (exptime=20.00) t [sec]
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arcsec

First 2 seconds (h'—-o 033 E_ 0, 1273
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 523 m&an =-O 126)
Declination Error (o, =0.161 mean o.=0-080)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149048 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 089 E_ =0, 0283
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 126 m&&n =-O 026)
Declination Error (o, =0.057 mean =-0.024)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

20 40 60 80 100 120
expid=149051 (exptime=15.00) t [sec]



arcsec

First 2 seconds (F 0. 014 H_— O 263 3
First 20 seconds (o, =0.3( 0.154)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 305 m&&n -0 019)
Declination Error (0, =0.154 mean =-0.147)
Guider X (o,,= nan)

Guider Y (o, = nan)

80 00 120
expid=149052 (exptime=20.00) t [sec]



arcsec

First 2 seconds (F OOOOH_ 000(@
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 197 m&&n -0 071)
Declination Error (g, =0.005 mean o.=0-275)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=149053 (exptime=1.00) t[sec]



arcsec

First 2 seconds (F 0. 0743_ 0. 00%;
First 20 seconds (o, =0.2! a —0 1)
Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -0 000 g, —O 000)

Hour Angle Error (o —0 249 m&&n —0 009)
Declination Error (o, —0 096 mean o.=0-001)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

20 ' 40 60 80 100
expid=149054 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h'—-o 087 E_ 0. 1163
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 208 m&&n -0 010)
Declination Error (o, =0.028 mean o.=0-103)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149055 (exptime=7.00) t[sec]



arcsec

First 2 seconds (h'—-o 069 E_ 0. 1103
First 20 seconds (o, =l 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 134 m&&n -0 001)
Declination Error (0, =0.044 mean o.=0-119)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

j L : X I 1 1 i i 1 1 1 | 1 1 1 | 1 1 1
20 40 60 80 100 120

expid=149057 (exptime=7.00) t[sec]



arcsec

First 2 seconds (F 00273_ 00228
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 405 m&&n -0 222)
Declination Error (o, =0.057 mean o.=0-015)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149060 (exptime=7.00) t[sec]



arcsec

First 2 seconds (h' 00993_ 0, 17717
First 20 seconds (o, =0. 2110 =0.127)

Second 20 seconds ? =0.| 005 a,,.=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o —0 249 mean =-0.004)
Declination Error (o, —0 109 mean o.=0-046)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=149062 (exptime=30.00) t [sec]



arcsec

0.8

06}

0.4

First 2 seconds (F- i, 0813_— -0, 16&9
First 20 seconds (o, =0.000 @ = 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

s

Hour Angle Error (o a—O 922 m&&n =-O 099)
Declination Error (0, =0.389 mean =-0.135)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

OF=-

80 100 120
expid=149068 (exptime=15.00) t [sec]



arcsec

0.2

[CCITTTITITT0  First 2 seconds (h'—-o 719 E_— 0. 601;
===~ First20seconds (g, =0.000 ¢ =0.000;
C X X Second 20 seconds ?0 ,=0.00 0 .=0.000)
Third 20 seconds (o, -0 000 g —O 000)
—_ Hour Angle Error (o a—O 593 m&an -0 066)
Declination Error (o, =0.366 mean =-0.123)
Guider X (o,,=0. OOO)
"""""""""""""""""""""""""""" Guider Y (o, 0. 000)
D S T A . 70 N o N N S P P

80 100 120
expid=149069 (exptime=15.00) t [sec]



arcsec

—— 1

[CCITTTITITT0  First 2 seconds (F 0. 6363_ 0. 2738
===~ First20seconds (o, =0.000 ¢, =0.000)
C X X Second 20 seconds ?0 =0.| OOEJ ,,.=0.000)

Third 20 seconds (o, 28.000 g, —O 000)

Hour Angle Error (o a—O 686 m&an —0 098)
Declination Error (0, =0.246 mean o.=0-199)
Guider X (o,,=0. OOO)

""" —— GulderY(o —OOOO)
-, NSV VOGO e A
= 13 1) SO D e b b A S
DO L LA R I
1 e Ve A S I A
8>&>|< A { i | 1 1 1 i 1 1 1 | 1 1 1 | 1 1 1

60 80 100 120
expid=149070 (exptime=15.00) t [sec]



arcsec

[CCITTTITITT0  First 2 seconds (h' -0, 234 E_ =0, 1752
SZ ==z~ First20seconds (o, =0.5 82)
C X X Second 20 seconds ?0 =0 00%) a,,.=0.000)

s
—r

Third 20 seconds (o, 28.000 g, —O 000)
I | i —_ Hour Angle Error (o a—O 868 m&an —0 061)
| h _— Declination Error (o, =0.387 mean o.=0-027)
. _— Guider X (o,,=0. OOO)
: r 0 | """""""" 7R —_— GulderY(o —OOOO)

20

40 60 80 100 120
expid=149071 (exptime=30.00) t [sec]



arcsec

0.8

0.6

0.4

0.2

[CCITTTITITT0  First 2 seconds (F 10263_ 05483
=~~~ ~7] First20seconds (o, =1.3150, =0.955)
C X X Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, —50000 —0000)
' H —_ Hour Angle Error (c L1.315 m&an —0054)
' . A Declination Error (g, —0955mean o ="0.091)
X >< : Guider X (g,,=0.000)"
_— i > o vd B A Y, 7R GulderY(o —OOOO)
i Ml .. T D T I 7 S S A L e
1 M >< -
= DI AP N AN S N
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DAL Uit
I { | 1 1 1 i 1 1 1 | 1 1 1 | 1 1 1

40 60 80 100
expid=149072 (exptime=20.00) t [sec]
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120

20.00) t[sec]

100

149074 (exptime

60 80
expid

40

20



arcsec

[CCITTTITITT0  First 2 seconds (F 0. GBOE 0. 0119
SZ ==z~ First20seconds (o, =0.9 U =0.725)
C X X Second 20 seconds ?0 =0 OOEJ ,,.=0.000)

1 Third 20 seconds (o, —00000 —0000)
H i —_ Hour Angle Error (cha—O 919 mea\nh =0.167)
. A _— Declination Error (g, =0.725 mean  =-0.039)
>< ........ A Guider X (o,,= nan)
08 — >< o 2 N2 U2 V2 VAN TN - Guider Y (o, = nan)
0.6 = U < ------------------------------------------------------------------------  SLRRIITRTIIPRY R RSSIEEERITIRPPE
i || 5
0.4 fH CRE AN AN AN AN AN AN S e R RCLATTITEIRETN FETSEPRPIS RS
0.2 157 e N N SR LIt RIS
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02 >< A TN N S e
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20 40 60 80 100 120
expid=149076 (exptime=20.00) t [sec]



arcsec

0.8

0.6

0.4

0.2

First 2 seconds (h' 0. 7213_— 0625)]
First 20 seconds (o, =0.490 % -0 407)

Second 20 seconds ?0 ,=0.00 0 .=0.000)
Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 490 m&&n -0 013)
Declination Error (0, =0.407 mean =-0.291)
Guider X (o,,= nan)

Guider Y (o, = nan)

80 100 120
expid=149078 (exptime=20.00) t [sec]



arcsec

First 2 seconds (ﬁ—s 648 H_c— -3, 546%
First 20 seconds (o, =3.7 96)

Second 20 seconds ? —0 00 0 .=0.000)
Third 20 seconds (o, —5 000 g, —O 000)

Hour Angle Error (o —3 780 mean =-0.850)
Declination Error (o, —1 196 mean =-0.747)
Guider X (ch- nan)

Guider Y (o = nan)

(12 ) @ SO G T R
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X

| T e R
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N ERAMAN o S S
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80 100 120
expid=149080 (exptime=20.00) t [sec]



arcsec

First 2 seconds (F- 0. 6713_— -0, 3962
First 20 seconds (o,_=0.457 T =0.168)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 457 mean =-0.098)
Declination Error (0, =0.168 mean =-0.128)
Guider X (o,,= nan)

Guider Y (o, = nan)

80 100 120
expid=149082 (exptime=20.00) t [sec]
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20.00) t[sec]

149084 (exptime

expid=



Vv = =
First 2 seconds (h' -0.524 E_ 0. 813&
First 20 seconds (0, =4.944 ¢ 16)

Second 20 seconds ?0 =0.00 0 =0.000)

arcsec

Third 20 seconds (o, 50000 0000)
Hour Angle Error (c *4.939 m&an =1 782)
Declination Error (c =5.716 mean __=-0.225)
Guider X (o,,= nan)

Guider Y (o, = nan)

..........................................................................................................................

..........................................................................................................................

...........................................................................................................................

...........................................................................................................................

80
expid=149086 (exptime=20.00) t [sec]

100 120



arcsec

0.8

0.6

0.4

-0.2

-0.4

-0.6

-0.8

revoseconds (o =l.se00, =U.
First 2 seconds (Fa=-0.148 dec=-0.996.
First 20 seconds (o, =1.199 ¢ ec=l.316
Second 20 seconds ?Uh =0.000 0, =0.000)

02 0L+

Third 20 seconds (o, 3:5.000 cdeczgﬁ.ooo)
Hour Angle Error (o a=1.199 mean a=-0.249)
Declination Error (o, =1.316 mean  =-0.248)
Guider X (g,,=0.000)

Guider Y (o_,=0.000)

........................................................................................................................

.........................................................................................................................

...........................................................................................................................

80 100 120
expid=149088 (exptime=20.00) t [sec]



arcsec

= [T

First 2 seconds (F 03293_ 003%}
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 426 mea\nh =0.039)
Declination Error (o, =0.178 mean  =-0.102)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149089 (exptime=15.00) t [sec]



arcsec

First 2 seconds (F 0. 1673_ 0. 12@
First 20 seconds (o, =0.212 G -0 189)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 212 m&&n -0 053)
Declination Error (0, =0.189 mean =-0.033)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149090 (exptime=20.00) t [sec]



arcsec

0.4

First 2 seconds (h'— 0.573 E_— 0.023
First 20 seconds (o, =0.446 T —0.067

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

2 1 | VAV, S SRS N SR
/l L i I 1 1 i i 1 1 1 | 1 1 1 | 1 1 1

Hour Angle Error (o a—O 446 mean =-0.074)
Declination Error (0, =0.067 mean =-0.013)
Guider X (o,,= nan)

Guider Y (o, = nan)

20 40 60 80 100 120
expid=149091 (exptime=20.00) t [sec]
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20.00) t[sec]
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80
expid=149093 (exptime
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20.00) t([sec]
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149099 (exptime
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arcsec

0.4

First 2 seconds (h' 0 194 E_ =0, 082%
First 20 seconds (o, =l 22)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 306 mean =-0.027)
Declination Error (0, =0.122 mean o.=0-009)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

/l L : X I 1 1 i i 1 1 1 | 1 1 1 | 1 1 1
20 40 60 80 100 120

expid=149100 (exptime=20.00) t [sec]



arcsec

0.6 ff

0.4

First 2 seconds (F OOOOH_ 000(@
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

¥
|

o
4
- |

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 205 m&&n -0 035)
Declination Error (o, =0.020 mean =-0.151)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

20 40 60 80 100 120
expid=149101 (exptime=1.00) t[sec]




arcsec

First 2 seconds (h'—-o 025 E_ =0, 0933
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 147 m&&n =-O 005)
Declination Error (o, =0.011 mean o.=0-095)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 00
expid=149103 (exptime=7.00) t[sec]



arcsec

First 2 seconds (F 00523_ 0. 1398
First 20 seconds (o, =0.000 G -0 0)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 123 m&&n -0 000)
Declination Error (o, =0.033 mean o.=0-115)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=149105 (exptime=7.00) t[sec]



arcsec

First 2 seconds (h' 0. 066 H_— 0, 0463
First 20 seconds (o, =0.0( 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 148 m&&n -O 011)
Declination Error (o, =0.019 mean =-0.030)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=149107 (exptime=7.00) t[sec]



arcsec

First 2 seconds (h' 00793_ 00778
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 110 m&8n -0 071)
Declination Error (o, =0.038 mean .=0-080)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149109 (exptime=7.00) t[sec]
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30.00) t[sec]
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arcsec

80
expid=149117 (expti
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300.00) t[sec]
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100 120
=240.00) t[sec]

149119 (exptime

80
expid=

40 60

20

J9sdJe




arcsec

0.4

First 2 seconds (h' 0 006 E_ =0, 284%
First 20 seconds (o, =l 36)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -0 000 g, —O 000)

Hour Angle Error (o a—O 206 m&&n —0 020)
Declination Error (o, =0.128 mean o.=0-047)
Guider X (o,,= nan)

Guider Y (o, = nan)

........... O 00 D - 0. GO0 VOTSTUOOsOsssOsssoos FOTOSOSOSOsOTOTOTOTOOs SOOI
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EE= T N S A O S o e
LR
: IR SIS N S
= ; " I.T' “'“
=l || D N
_________ R\ 7 U ) O OO SO0 SN
j 1 i I 1 1 | i 1 1 1 i 1 1 1 | 1 1 1
20 40 60 80 100 120

expid=149120 (exptime=30.00) t [sec]



arcsec

I

0.4

First 2 seconds (h'—-o 050 E_ =0, 0433
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 326 m&an =-O 043)
Declination Error (0, =0.059 mean o.=0-027)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149121 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 000 E_ =0, 0233
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 239 m&an =-O 007)
Declination Error (o, =0.071 mean o.=0-025)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

1 J L i X I 1 1 | i 1 1 1 | 1 1 1 | 1 1 1
20 40 60 80 100 120
expid=149124 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' 0. 153 H_— 0, 163%
First 20 seconds (o, =0.2! 73)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 239 m&an -0 103)
Declination Error (o, =0.073 mean =-0.045)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=149125 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h'—-o 005 E_— 0.039
First 20 seconds " (o,_=0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 195 m&&n =-O 020)
Declination Error (o, =0.080 mean =-0.014)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=149126 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' ooelﬂ_— 0022%
First 20 seconds (o, =0.168 % —0 026)

Second 20 seconds ?0 ,=0.00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 154 mean =-0.004)
Declination Error (o, =0.026 mean o.=0-009)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

............................................................ B aeeeeaeeeaeaecaeaasasafeeanaanaananaaaaaaaaaan

............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=149127 (exptime=30.00) t [sec]
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arcsec

First 2 seconds (h'—-o 167 E_— 0.105,
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 ,=0.00 0 ,=0-000)

Third 20 seconds (o, -0 000 g —O 000)
Hour Angle Error (o a—O 211 m&%n -O 011)
Declination Error (0, =0.047 mean =-0.045)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=149129 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'— 0, 0113_ 0, 03523
First 20 seconds (o, =0.000 @ = 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 105 m&&n =-O 010)
Declination Error (o, =0.018 mean o.=0-030)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=149130 (exptime=15.00) t [sec]



arcsec

First 2 seconds (F OOOOH_ 000(@
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 066 m&an -0 084)
Declination Error (o, =0.004 mean o.=0-186)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

40 60 80 100 120
expid=149131 (exptime=1.00) t[sec]



arcsec

First 2 seconds (h' 0. 044 H_— 0, 014%
First 20 seconds (o, =0.1. 23)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 133 m&&n —0 007)
Declination Error (o, =0.020 mean o.=0-018)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

............................................................ B aeeeeaeeeaeaecaeaasasafeeanaanaananaaaaaaaaaan

............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=149132 (exptime=30.00) t [sec]
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